PRODUCT PRICE LIST

Phone: 0086-592-5239037 Fax: 0086-592-5732132
Web: www.gracesolar.com Mail: info@gracesolar.com

GS PITCHED ROOF RACKING SYSTEM

- Unit EXW
Item No. INET Description Package
(USD)

Rail
v'Standard length of 2560 mm
GS-DR-2560 GD Rail 2560 v'Clean Anodized
v'3 modules ( width 808~826mm)
v'Standard length of 3405 mm
-

GS-DR-3405 GD Rail 3405 v'Clean Anodized
v'4 modules ( width 808~826mm)

8pcs/bundle
/ v Standard length of 4200 mm

GS-DR-4200 GD Rail 4200 v'Clean Anodized
v'4 modules ( width 990~996mm)

) v'Customized length
GS-DR-(length) GD Rall )
v'Clean Anodized

GS-HR-(length) GH Rall v'Have top and bottom channel 8pcs/bundle

v'Customized length
GS-DR4-(length) GD 4# Raill v'Clean Anodized 8pcs/bundle
v'Back connect

v'Customized length
GS-DR5-(length) GD 5# Rail v'Clean Anodized 8pcs/bundle
v'Cable Rail

v'Customized length
GS-CRC-(length) Cable Rail Cap v'Clean Anodized 8pcs/bundle
v'Cap of Cable Rail

v'Customized length
GS-7R-(length) GD 7# Rail v'Clean Anodized 12pcs/bundle
v'Cap of Cable Rail

W T

Publish Date 6/21/2013 Page: 1 Version: AU



Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

Rail Splice Kit

" © GS-DR-SP

B By GS.DR4-SP

GS-7R-SP

Framed Module Clamp Kit

GS-IC-F30
B> GsicF3s
GS-IC-F46
S
GS-IC-F57
GS-EC-F30
GS-EC-F35
GS-EC-F40
C . GS-EC-F46
4
GS-EC-F50
GS-EC-F57
e GS-EC-A01
L GS-EC-A02
v

GD Rail Splice Kit

GD 4# Rail Splice
Kit

GD 7# Rail Splice
Kit

Inter Clamp Kit
30mm
Inter Clamp Kit
35mm
Inter Clamp Kit
46mm
Inter Clamp Kit
57mm
End Clamp Kit
30mm
End Clamp Kit
35mm
End Clamp Kit
40mm
End Clamp Kit
46mm
End Clamp Kit
50mm
End Clamp Kit

57mm

GS Adjustable End
Clamp 1#

GS Adjustable End
Clamp 2#

Publish Date 6/21/2013

v'Connect two pcs GD Rail
v'Clean Anodized

v'Pre-assembly

v'Connect two pcs GD 4# Rail
v'Clean Anodized
v'Pre-assembly

v'Connect two pcs GD 7# Rall
v'Clean Anodized
v'Pre-assembly

v'Inter Clamp & D- Module &
Socket Head Screw

v'Pre-assembly

v'Clean Anodized

v'End Clamp & D-Module& Socket

Head Screw
v'Pre-assembly
v'Clean Anodized

v'Aluminum Parts & Stainless
steel Fastens

v'Clamp Module Height:
25~60mm

v'Aluminum Parts & Stainless
steel Fastens

v'Clamp Module Height:
30~58mm

Page: 2 Version: AU

50 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN

50 kits/box
4 boxes/CTN

100 kits/box
4 boxes/CTN

100 kits/box
4 boxes/CTN

50 kits/box
4 boxes/CTN

50 kits/box
4 boxes/CTN



Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

Frameless Module Clamp Kit

ey
B GSs-IC-L80

GS-EC-L80

GS-RC-D

GS-7RC-D

| A

Tile Roof Hook

GS-IK-01

4@\ GS-IK-02

GS-IK-02-A

Thin Film Inter

Clamp Kit

Thin Film End
Clamp Kit

GD Rail Clamp

7# Rail Clamp

Stainless Steel
Hook 1# Kit

Stainless Steel
Hook 2# Kit

Stainless Steel
Hook 2# A type Kit

Publish Date 6/21/2013

v'Thin Film Inter Clamp & Thin
Film Rubber Pad & D-Module&
Socket Head Screw

v'Pre-assembly

v'Clean Anodized

v'Thin Film End Clamp & Thin
Film Rubber Pad & D-Module&
Socket Head Screw

v'Pre-assembly

v'Clean Anodized

v'GD Rail Clamp & D- Module &
Socket Head Screw

v'Pre-assembly

v'Clean Anodized

v/ 7# Rail Clamp & D- Module &
Socket Head Screw

v'Pre-assembly

v'Clean Anodized

v/ Stainless Steel Hook 1# &
D-Module& Socket Head Screw
& 3 x Wood Screw St6.3x80

v'"Roman Tile Roof

v/ Stainless Steel Hook 2# &
D-Module& Socket Head Screw
& 2 x Wood Screw St6.3x80

v'Flat Tile Roof

v/Stainless Steel Hook 2# A type &
D-Module& Socket Head Screw
& 2 x Wood Screw St6.3x80
v'Flat Tile Roof

Page: 3 Version: AU

40 kits/box
4 boxes/CTN

50 kits/box
4 boxes/CTN

100 kits/box
4 boxes/CTN

100 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

30 kits/box II
2 boxes/CTN

10 kits/box
4 boxes/CTN



Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

GS-IK-02-B

b\; GS-IK-02-C

L

N
”

Jil

| GS-IK-04
"55 X

™

S\ GS-IK-04-A

i

GS-1K-04-B

GS-IK-06

Stainless Steel
Hook 2# B type Kit

Stainless Steel
Hook 2# C type Kit

Stainless Steel
Hook 4# Kit

Stainless Steel
Hook 4# A type

Stainless Steel
Hook 4# B type

Stainless Steel
Hook 6# Kit

Publish Date 6/21/2013

v Stainless Steel Hook 2# B type &
D-Module& Socket Head Screw
& 2 x Wood Screw St6.3x80

v'Flat Tile Roof

v'"Mount with GH Rail

v Stainless Steel Hook 2# B type &
7R Clamp & 2 x Wood Screw
St6.3x80

v'Flat Tile Roof

v'"Mount with GH Rail

v Stainless Steel Hook 4# &
D-Module& Socket Head Screw
& 3 x Wood Screw St6.3x80

v Slate Tile Roof

v Stainless Steel Hook 4# A type
& D-Module& Socket Head
Screw & 3 x Wood Screw
St6.3x80

v'Slate Tile Roof

v/ Side fix rall

v/ Stainless Steel Hook 4# &
D-Module& Socket Head Screw
& 3 x Wood Screw St6.3x80

v'Slate Tile Roof

v'Mount with GH Rail

v Stainless Steel Hook 6# &
D-Module& Socket Head Screw
& 3 x Wood Screw St6.3x80

v Slate Tile Roof

Page: 4 Version: AU

10 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN



Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

GS-IK-12

—a——

GS-IK-14

_2
=) g
A
A
¥
Y ¥y { GS-IK-15
"

GS-IK-17

~ B GS-IK-HP
o |
/ / GS-IK-FR
'\'f_\\ )
GS-IK-FR-02
GS-AIK-01

Adjustable Stainless
Steel Hook 12# Kit

Stainless Steel
Hook 14# Kit

Adjustable Stainless
Steel Hook 15# Kit

Adjustable Stainless
Steel Hook 17# Kit

Height Adjust Plate

FB Rail Hook Kit 1#

FB Rail Hook Kit 2#

Aluminum Roof
Hook 1# Kit

Publish Date 6/21/2013

v/ Stainless Steel Hook 12# &
D-Module& Socket Head Screw
& 3x Wood Screw St6.3x80

v'"Roman Tile Roof

v Stainless Steel Hook 1# &
Adjust Plate 1#&D-Module&
Socket Head Screw & 3 x Wood
Screw St6.3x80

v'"Roman Tile Roof

v Stainless Steel Hook 15#
&D-Module& Socket Head
Screw & 3 x Wood Screw
St6.3x80

v'"Roman Tile Roof

v/ Stainless Steel Hook 10# &7R
Clamp& 3 x Wood Screw
St6.3x80

v'"Roman Tile Roof

v Stainless Steel Parts & Socket
Head Screw

v'FB Rail & 2 x Wood Screw
St6.3x80

v'Al 6005-T5

v'Slate Tile Roof

v'FB Rail 2# & 2 x Wood Screw
St6.3x80
v Al 6005-T5

v Aluminum Hook 1# &
D-Module& Socket Head Screw
& 3 x Wood Screw St6.3x80

v'"Roman Tile Roof

Page: 5 Version: AU

10 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

10 kits/box
4 boxes/CTN

100 kits/box
2boxes/CTNII

40 kits/box
4 boxes/CTN

28 kits/box
4 boxes/CTN

12 kits/box
4 boxes/CTN



Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

Corrugated Roof Hook

ML

GS-IK-05
- -
2
CF
P GS-IK-HO1
i
’{ GS-IK-HO4
&
¢ GS-IK-HO5
L &/  GS-IK-HO6

/a‘
y
]

Sheet Metal Roof Hook

-
a G

GS-IK-07-A

W . -
' GS-IK-07-B

Aluminum Tin
Interface kit 5#

Hanger Bolt Hook
1#

Hanger Bolt Hook
A4#

Hanger Bolt Hook
5#

Hanger Bolt Hook
6#

Stainless Steel
Hook 7# Kit

Stainless Steel

Hook 7# Kit Atype

Stainless Steel
Hook 7# Kit B type

Publish Date 6/21/2013

V'L feet & Rubber Pad &
D-Module& Socket Head Screw
& 1x Wood Screw St6.3x80

v'Pre-assembly

v'Tin Roof

v'Hanger Bolt M10x200 Kit &
Angle Steel Kit with D-Module
v'Pre-assembly

v'Hanger Bolt M10x200 Kit & L
feet with D-Module
v'Pre-assembly

v'Hanger Bolt M10x200 Kit & Steel
Plate & D-Module

v'Pre-assembly

v'"Mount with GH Rail

v'Hanger Bolt M10x200 Kit & Steel
Plate &7R clamp

v'Pre-assembly

v'Mount with 7# Rail

v/ Stainless Steel Hook 7#&
D-Module& Socket Head Screw
& Self-tapping Screw St6.3

v'Pre-assembly

v/ Trapezoid Sheet Metal Roof

v'Hook 7# A type& D-Module&
Socket Head Screw &
Self-tapping Screw St6.3

v'Pre-assembly

v'Trapezoid Sheet Metal Roof

v'Hook 7# B type& D-Module&
Socket Head Screw &
Self-tapping Screw St6.3

v'Pre-assembly

v'Trapezoid Sheet Metal Roof

Page: 6 Version: AU

50 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

40 kits/box
2 boxes/
CTNII

40 kits/box
2 boxes/
CTNII

40 kits/box
2 boxes/
CTNII



e GS-UTK-01
s .s
*

GS-IK-S01

GS-IK-S02

GS-IK-S03

GS-IK-S04

GS-IK-SK7

GS-IK-S02-A

GS-IK-S03-A

GS-IK-SK7-A

GS-IK-S07

Phone: 0086-592-5239037
Web: www.gracesolar.com

Universal Trapezoid
Metal Roof Hook 1#

Standing Seam
Roof Hook 1#

Standing Seam
Roof Hook 2#

Standing Seam
Roof Hook 3#

Standing Seam
Roof Hook 4#

Standing Seam
Roof Hook K7

Standing Seam
Roof Hook 2# A
type
Standing Seam
Roof Hook 3# A
type

Standing Seam
Roof Hook K7 A

type

Standing Seam
Roof Hook 7#

Publish Date 6/21/2013

Fax: 0086-592-5732132
Mail: info@gracesolar.com

v/ Stainless Steel and Aluminum
Parts& Socket Head Screw &
Self-tapping Screw St6.3

v'Pre-assembly

v/ Trapezoid Sheet Metal Roof

v'Pre-assembly
v'Butler Roof

v'Length 50mm
v'Pre-assembly
v'KalZip-Bemo-Roof

v'Length 50mm
v'Pre-assembly
v'Zambeli RibRoof

v'Length 110mm
v'Pre-assembly
v'Butler Roof

v'Length 50mm
v'Pre-assembly
v'Klip-Lok 700

v'Length 80mm
v'Pre-assembly
v'KalZip-Bemo-Roof
v'Length 80mm
v'Pre-assembly
v'Zambeli RibRoof

v'Length 80mm
v'Pre-assembly
v'Klip-Lok 700

v'Length 110mm
v'Pre-assembly
v'Klip-Lok 700 Hi-Strength

Page: 7 Version: AU

30 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN

20 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN

15 kits/box
4 boxes/CTN



Flashing Hook

O

Accessories

= &

ol

GS-HR-150

GS-HF-01

GS-IK-L11

GS-A-IC

GS-A-EC30
GS-A-EC35
GS-A-EC40
GS-A-EC45
GS-A-EC50
GS-A-EC57

GS-A-DM

GS-A-PCO1

GS-SSCC-01

GS-SSCC-02

GS-A-DRC-SG

GS-CT-01

Phone: 0086-592-5239037
Web: www.gracesolar.com

High-Rise
Bar,150mm

High-Rise Flashing
1#

OD11 L-Feet Kit

Framed Module
Inter Clamp
End Clamp 30
End Clamp 35
End Clamp 40
End Clamp 45
End Clamp 50
End Clamp 57

D-Module

Plastic Cable Clip

SS Cable Clip 1#

SS Cable Clip 2#

GD Rail Cap
(Silver Gray)

Cable Tie 1#
4.6x300

Publish Date 6/21/2013

Fax: 0086-592-5732132
Mail: info@gracesolar.com

v'Aluminum Parts & Fasten &
Rubber Pad

v'Pre-assembly

v'150mm

v'High-Rise Flashing & Rubber
Collar
v'305x205x1mm

v'OD 11 L feet & D-Module&
Socket Head Screw

v'Pre-assembly

v'Mount with the M10 Bolt

v Aluminum 6005-T5
v'Clean Anodized

v'Aluminum 6005-T5
v'Clean Anodized
v'Suitable for framed Module

v Aluminum 6005-T5
v'Clean Anodized
v'"M8 Threaded Hole

v'Nylon 66
v'Connect the wire with GS Rail

v/ Stainless Steel

v'Connect the wire with Frame of
Module

v/ Stainless Steel

v'Connect the wire with Frame of
Module

v'Nylon 66

v'End Cap for GD Rall

v'Color: Silver Gray

v'SUS304

v'PVC Coat

v'Tie the cable

Page: 8 Version: AU

15kits/box
4 boxes/CTN

Customized

50 kits/box
4 boxes/CTN

200 kits/box
4 boxes/CTN

200 kits/box
4 boxes/CTN

1000 kits/box
4 boxes/CTN

1000 kits/box
4 boxes/CTN

2000 kits/box
4 boxes/CTN

1000 kits/box
4 boxes/CTN

1000 kits/box
4 boxes/CTN

1000 kits/box
4 boxes/CTN



Fastener

GS-F-S820
GS-F-S825
GS-F-S828
GS-F-S830
GS-F-S835
GS-F-S840
GS-F-S845
GS-F-S850
GS-F-S855
GS-F-S860
GS-F-S865
GS-F-AS820
GS-F-AS825
GS-F-AS828
GS-F-AS830
GS-F-AS835
GS-F-AS840
GS-F-AS845
GS-F-AS850
GS-F-AS855
GS-F-AS860
GS-F-AS865

GS-F-AB08

GS-F-N108

GS-F-N208

GS-F-N210

GS-F-N212

GS-F-wW108

Phone: 0086-592-5239037
Web: www.gracesolar.com

Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Socket Head Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw
Anti-Thief Screw

Anti-Thief Screw Bit

Hexagon Nut, M8

Flange Nut With
Locking Teeth, M8

Flange Nut With
Locking Teeth, M10

Flange Nut With
Locking Teeth, M12

Spring Washer, M8

Publish Date 6/21/2013

Fax: 0086-592-5732132
Mail: info@gracesolar.com

v Stainless Steel A2-70, M8x20
v Stainless Steel A2-70, M8x25
v Stainless Steel A2-70, M8x28
v Stainless Steel A2-70, M8x30
v Stainless Steel A2-70, M8x35
v Stainless Steel A2-70, M8x40
v Stainless Steel A2-70, M8x45
v Stainless Steel A2-70, M8x50
v'Stainless Steel A2-70, M8x55
v'Stainless Steel A2-70, M8x60
v'Stainless Steel A2-70, M8x65
v Stainless Steel A2-70, M8x20
v Stainless Steel A2-70, M8x25
v Stainless Steel A2-70, M8x28
v Stainless Steel A2-70, M8x30
v Stainless Steel A2-70, M8x35
v Stainless Steel A2-70, M8x40
v Stainless Steel A2-70, M8x45
v Stainless Steel A2-70, M8x50
v Stainless Steel A2-70, M8x55
v'Stainless Steel A2-70, M8x60
v'Stainless Steel A2-70, M8x65

v'Tool for the anti-thief screw M8

v Stainless Steel A2-70, M8

v'Stainless Steel A2-70, M8

v Stainless Steel A2-70, M10

v Stainless Steel A2-70, M22

v Stainless Steel A2-70 M8

Page: 9 Version: AU

Package on

request



Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

( GS-F-W208

GS-F-W308

GS-F-T625

GS-FS-W660

GS-FS-W680

GS-F-H020
P
7
’:/ GS-FA-H020
Grounding System
: - GS-G-GC
GS-G-GL
s =
r—_—
GS-G-CGL
i =~ GS-G-BJ

Lock Washer, M8,
0OD13

Lock Washer, M8,
0oD18

Self-tapping Screw

Wood Screw,

Wood Screw,

Hanger Bolt

Hanger Bolt
Assembly

Grounding Clip

Grounding Lug

Grounding Lug

Bonding Jumper

Publish Date 6/21/2013

v Stainless Steel A2-70, M8, OD13

v Stainless Steel A2-70, M8, OD18

v'Stainless Steel 410 St6.3x25

v Steel, St6.3x60
v'With Pad
v'SUS 410
v Steel, St6.3x80
v'With Pad
v'SUS 410

v Stainless Steel A2-70 M10x200

v Stainless Steel Hanger Bolt&
3xFlange Nuts & Rubber Pad
v'M10x200

v Stainless Steel Plate

v'Stainless Steel Plate &
Aluminum Lay-in lug & Fastens
v'Pre-assembly

v Stainless Steel Plate & Copper
Lay-in lug & Fastens

v'Pre-assembly

v'Braider copper wire & Stainless
Steel Plate & Fastens

v'Pre-assembly

Page: 10 Version: AU

Package on

request

60 kits/box
4 boxes/CTN

50 kits/box
4 boxes/CTN

1000 kits/box
4 boxes/CTN

200 kits/box
2 boxes/ CTN
I

200 kits/box
2 boxes/ CTN
II

100 kits/box
2 boxes/CTN
II



PRODUCT

Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

GS FLAT ROOF RACKING SYSTEM

e o e T osipior [ package | unioxwusD)

Adjustable Tilt System

r GS-AD-FL
e "
> -

GS-AD-RL
10/15

GS-AD-RL
15/30

GS-AD-RL
30/60

Adjustable Front Leg

Adjustable Rear Leg
10/15

Adjustable Rear Leg
15/30

Adjustable Rear Leg
30/60

Publish Date 6/21/2013

v'Aluminum Parts & Socket
Head Screw & Rubber
Pad & 2xWood Screw
St6.3x80

v'Clean Anodized

v'Pre-assembly

v'Aluminum Parts & Socket
Head Screw & Rubber
Pad & 2xWood Screw
St6.3x80

v'Clean Anodized

v'Pre-assembly

v'Aluminum Parts & Socket
Head Screw & Rubber
Pad & 2xWood Screw
St6.3x80

v'Clean Anodized

v'Pre-assembly

v'Aluminum Parts & Socket
Head Screw & Rubber
Pad & 2xWood Screw
St6.3x80

v'Clean Anodized

v'Pre-assembly

Page: 11 Version: AU

20 kits/box
4 boxes/CTN

30 kits/CTN

25 kits/CTN

25 kits/Big CTN



Phone: 0086-592-5239037 Fax: 0086-592-5732132
Web: www.gracesolar.com Mail: info@gracesolar.com

Fold Tri-angle System

W, Length: 1350mm v'Aluminum Parts & Socket
/N, Triangle Bracket 1#, Head Screw
/ Onrequest GS-FT30-01 )
. 30deg v'Clean Anodized
Length: 1410mm ) ‘/ Pre-aSSEmb|y P k
ackage
on request
- Length: 800mm v Aluminum Parts & Socket q
. Triangle Bracket 2#, Head Screw
| Onrequesty, GS-FT30-02 _
: . 30deg v'Clean Anodized
Length: 850mm v'Pre-assembly
v'GD Rail Clamp & Socket
) Head Screw 100 kits/box
N GS-RC-01 DR Rail Clamp
L v'Pre-assembly 4 boxes/CTN

v'Clean Anodized

Fold Tri-angle System

v'Aluminum Parts & Socket
Head Screw

v Clean Anodized

v'Pre-assembly

GS-AT2-10/15 AD 2# Tri-bracket 10/15

v'Aluminum Parts & Socket
Head Screw
v'Clean Anodized

GS-AT2-15/25 AD 2# Tri-bracket 10/25

v'Pre-assembly

v'Aluminum Parts & Socket
Head Screw

v'Clean Anodized

v'Pre-assembly

GS-AT2-25/45 AD 2# Tri-bracket 25/45

Publish Date 6/21/2013 Page: 12 Version: AU



PRODUCT PRICE LIST

Phone: 0086-592-5239037 Fax: 0086-592-5732132
Web: www.gracesolar.com Mail: info@gracesolar.com

GS BALLASTED MOUNTING SYSTEM

T e e osein | uniswus)

Component

BM Tri-Bracket

GS-BM-TS-10 )
Kit, 10deg
v'Aluminum 6005-T5 Parts &
. . Package
BM Tri-Bracket stainless steel Fasten
GS-BM-TS-15 ) ) on request
Kit, 15deg v Clean Anodized
v'Pre-assembly
BM Tri-Bracket
GS-BM-TS-20

Kit, 20deg

v'Aluminum 6005-T5 Parts &
stainless steel Fasten

v Clean Anodized

v'Connect the Tri-Bracket

GS-BM-CT-450 Connect Tube

v'Sheet Aluminum

¥'Clean Anodized

v'Width is 200mm for place the
ballast

GS-BP-200 Ballasted Pan

v'Sheet Aluminum
v'Clean Anodized

Wind Deflection
GS-WD10-1650 Plate 10deg,

v'Length is 1650mm, can be
1650mm

customized

v'Material: NBR
GS-BM-RP BM Rubber Pad
v'Protect the roof

Publish Date 6/21/2013 Page: 13 Version: AU



PRODUCT PRICE LIST

Phone: 0086-592-5239037
Web: www.gracesolar.com

Fax: 0086-592-5732132
Mail: info@gracesolar.com

e e T hare s [ pacage | Untowusn

Component

GRASOL AL-GROUND MOUNTING SYSTEM

v'Anodized Aluminum Section

GS-8R-Length B-Rail ) 4pcs/bundle
v'Length can be customized
) _ v'Anodized Aluminum Section 10pcs/box
GS-8R-SP 8# Rail Splice o
and Self-drilling Bolt 2boxes/CTN
v Aluminum Parts & Stainless
) 50pcs/box
GS-8R-C60 8# Rail Clamp Steel Fasten
4boxes/CTN
v'Pre-Assembly
v'Anodized Aluminum
Assembly of
v'Pre-assembly
l_f-, S GS-AG2-BA-2740  Support Beam 2pcs/bundle
| v'For 2xmodule length
2600mm
1400~1700mm
v'Anodized Aluminum
v'Can be Front Leg, Back Leg
GS-AG-T-Length Square Tube 4pcs/bundle
. ' and Brace
v'Length can be customized
M . .
<= M Front and v'Anodized Aluminum 2pcs/box
“H [ GS-AG-B-05 P
\\)/ Bottom Base v'Pre-assembly 4boxes/CTN
Publish Date 6/21/2013 Page: 14 Version: AU



PRODUCT PRICE LIST

Phone: 0086-592-5239037 Fax: 0086-592-5732132
Web: www.gracesolar.com Mail: info@gracesolar.com

GRASOL PILE GROUND MOUNTING SYSTEM

e o Thare— osepior ———eeoge | umeowusd

Component

Open Post v' Q235 Steel
GS-PG-OP2950 ) ) 45pcs/stock
2950m v'Hot-dip galvanized

) v/ Aluminum Part and Stainless Steel )
GS-PG-TC Aluminum Top 8 kits/box I
Fasten
Cap 2 boxes/CTN
v'Pre-Assembly

|
"

- v/ Aluminum Part and Stainless Steel

= GS-PG2-BA30 Assembly of Fast 6kits/layer
asten
\ -2740 Support Beam 6layers/stock
v'Pre-Assembly

Publish Date 6/21/2013 Page: 15 Version: AU



